i 1
E ﬁ .@ tillegg av brok (riktig brek) (feil brak)

StudentName: ExamDate: ExamScore:
2 6 1 4
— 4+ - = — 4 - =
4 4 6 9
5 1 4 2
4+ = — 4 — =
8 6 5 7
3 7 1 7
9 6 2 5
6 3 6 3
4 4 9 9
2 7 6 2
7 6 9 8
3 5 5 4
7 8 9 5
5 3 7 4
4+ = — 4 - =
4 5 8 6
3 7 1 3
4+ - = — 4+ - =
2 2 5 5
6 1 1 7
— 4+ - = — 4 - =
9 4 5 6
2 5 3 1
—_+ = — 4 — =
9 6 2 6
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i ﬁ e tillegg av brek (riktig brek) (feil brok)

StudentName: ExamDate: ExamScore:
2 6 1 4 11
Z+-=2 o=
4 4 6 9 18
5 1 19 4 2 38 3
—+ - = — -+t -=—==1—=
8 6 24 5 7 35 35
3 7 3 1 1 7 19 9
S l=Z-1- s
9 6 2 2 2 5 10 10
6 3 9 1 6 3
4+ =2=2- 4+ =]

4 4 4 4 9 9

2 7 6l 19 6 2 11
Sro=—=1=2 —+i=

7 6 42 42 9 8 12

3 5 59 3 5 4 o6l 16
St ==1— S
7 8 56 56 9 5 45 45
5 3 37 17 7 4 37 13
Tt Il= =1 8
4 5 20 20 8 6 24 24
3 7 1 3 4
“4+2=5 —+Z=2

2 2 5 5 5

6 1 11 1 7 41 11
J4 = g
9 4 12 5 6 30 30
2 5 19 1 3 1 5 2
Sl =1— Z+o=-1%
9 6 18 18 2 6 3 3
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